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Note : This paper is of sixty (60) marks divided into three (03)
sectionsA, B, and C.Attempt the questions contained
in these sections according to the detailed instructions

given therein.

dIC . IE WIA-US WIS (60) ekl ot & S i (03) Wl &, @ aelT
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Section -A / @US-&h

(Long Answer Type Questionsy( de STRI aTet w9 )

Note : Section ‘A’ contains four(04) long-answeitype questions
of fifteen (15) marks each. Learners are required to
answerany two (02) questions only

(2x15=30)

e : @WUT ‘&' § =1 (04) dd IR et woA e, udw
7y & fore uge siw fraffia € frenfelan = o @
Hae S U9l & ST A & |
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1. What are the factors responsible forincreasing state's economic

activities ?
T i enfeden fepane &1 9fg & = &R E 2

2. Critically examine peacock wisemen hypothesis of Public
Expenditure.
A = ® Nepieh aTEsTie IR e o1 STTAT=-TeHS T
EAiER]

3. Discusstherole of finance commissionin the distribution of

resources between centre and states and among states.
F% T T & AT q T B T FAEE & o
o fac e &t fier w1 auE i)

4, What are the challenges of public enterprises ?

dlleh el w1 Il o @72

Section - B/ @us-@

(Short Answer Type Questions) #1g 3T aTet U9 )

Note : Section 'B' contains eight (08) sharanswertype
guestions of five (05) marks each. Learners are required
to answerany four (04) questions only (4x5=20)

e : @Wug ‘@' U e (08) Y ST ATl uvH Tl M B, ueen
g & T uter (05) 2fes Fraifia & | Rranfofat = @
Y hael TN (04) Wl & ST A E |

1. What isWagner's Law of Public Expenditure ?



Note :

Al 9 1 TR 1w e ® 2

Distinguish between public and private finance.
At T fast faa | 9% wifsm

Explain briefly principle of Maximum social advantage.
SIehae AIHIfSIeR @19 & 9T &l H&d ° geeed|
Discuss any two methods of debt redemption.

=0 oA i feel Q1 faftel # fag=m st
Differentiate between direct and indirect taxes.

JIH Td T FU H AR R0

What is the impact of tax on resources of production ?

SEEA & THEA W R H F YA el g ?
Explain briefly sources of public debt.

e RO & Gl i Hed § HqHesd|
Evaluate Indian deficit financing.

IRaed § EY Yered 1 oAk hifau|
Section - C/ @Us-T

(Objective Type Questions)/ ( TEIf T9 )

Section 'C' contains ten (10) objective-type questions of
one (01) mark eachAll the questions of this section a&
compulsoty. (10x1=10)

: WU M U T} (10) aEgiTe wee fed w ¥, welew wee

& fomw e (01) 3tk faerifia 2 | 3@ @oe & @it oo
atfrard &
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Choose correct alternative :

Fﬂﬁmgﬁq:

1.

Which of the following is not a canon of taxation given by
Adam Smith ?

(@ Canon of equity

(b) Canon of certainty

(¢) Canon of convenience

(d) Canon of productivity

frefafea & @ &4 @ FUuH ted oy gR SaEn T
arfufem &t ?-

() gHar Aq=H

(a) Tf=aar stfafem

(9) gfawn sifwfam

(%) SR i

Which of the following taxes contribute the largest share of
central Government's tax revenue ?

(@ Income tax

(b) Excise duties
(c) Corporation tax
(d) Custom duties

frafafed 4 9 fog o &1 ARE H=F R qod §
Tag afus 872

(31) SEHL
(9) IOE YeFh
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() HHn gesh

Which types of tax helps in reducing disparities of income ?
(@ Progressive tax

(b) Proportion tax

(c0 A&B

(d) Regressive tax

®F ¥ YHR % H A HI TG B HH B € 7
(31) yafasfier &

(9) AuIfds T

(q) &1 &R 4

(%) Tt T

Who appoints the finance commission :

(@ Prime Minister of India

(b) Chairman of the Rajya Sabha

(c) President of India

(d) Speaker of the Lok Sabha

foed STRINT 1 &7 A T © -
(31) ¥R T YYEHA

() TF 991 F A"

(¥) 9IRA 1 Ul

(T) <ArhEH 1 THT
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Interest payment is an ltem of :
(@ Revenue expenditure

(b) Capital expenditure

(c) Plan expenditure

(d) None of these
EEiuci i -

(31) TS =99

() gt ==

(|) A =

(2) 3 9 HE Tl

The concept of zero based budget was given by :
(@ R.A. Musgrave

(b) J. M. Keynes

(c) PeterA. Pyhr

(d) A.H.Hansen

I SR e F erEemon § ¥ -

(31) IR T "WE

(9) S. TH. HH

(§) X T 9K

() T TE A

Agricultural Income tax is a source of revenue to :
(@ Central Government

(b) State Government
6



(c¢) Local administration

(d) Central and state governments

H IR TS HT Fid © -

(1) HEE TWHR & foau

(9) T W&FR & fau

(|) A 9eme % fog

(3) &= T8 T &N & fag

The burden of a tax on monopoly profit will be :
(@ Entirely on producer

(b) Entirely on Consumer

(c) Equally distributed among the producer and the
consumer

(d) More on the consumer

THITHHR T T H 9K B

(31) qofdan IAEE ™

(9) qofaan IusfeT =

(9) Scqeeh R Susiem W ekt o faesa
(%) U1 W 3ifaeh

Which of the following is not an aim of fiscal policy ?

(@ Exchange control
(b) Economic development
(¢) Increase in employment
(d) Price Stability
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10.

frefefed & o ®iF TSR g # SR e -
(1) fafma fre=mn

(9) enfefss fashma

(¥) ISR ¥ gfg

(%) =hiHa feerga

Prof. Baljeet Singh is related to :

(@) Taxreforms

(b) Public Finance

(c) Public Enteprises

(d) Functional Finance
. Sersia foe wwfed § -
(3T) & guR

(9) < o

(9) grestTe 3TM

(%) it ford



